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Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.

Question 1: The statement of the witness didn’t help the police in the investigation, so it proved to be____.


A. valuable

B. valueless
 
C. valuably
 
D. invaluable 
Question 2: I’m a bit late, ____?

A. am not I

B. aren’t you 

C. are you

D. aren’t I
Question 3: When confronted with a mass of____tape, many people feel a sense of powerlessness.
A. red


B. green

C. blue


D. brown
Question 4: When are you leaving____Singapore? This week or next week?
A. for


B. in


C. to


D. at
Question 5: The ____ for this position starts at thirty thousand euros per year.
A. wage 


B. pension 

C. salary 

D. income

Question 6: ____the management has decided on the order of events for the training day, a memo will be sent to all staff. 


A. While


B. Once
 
C. Hardly
 
D. Because 

Question 7: At first sight I met her. I was impressed with her ____eyes.
A. big beautiful round black 


B. beautiful black big round 
C. beautiful big round black 


D. beautiful round big black 

Question 8: John and Miley ____ last month. They weren’t happy in this relationship.

A. broke up 
B. brought up 
C. got over 
D. broke off 

Question 9: Tom burnt his hand when he _____ dinner.

A. was cooking
B. were cooking
C. has cooked
D. cooked

Question 10: I won’t return these books to the library until I ____ my research project. 

A. finished
B. will finish
C. finish
D. am going to finish

Question 11: Lifelong learning can also help ____ some of the weaknesses of the education system.

A. amend 
B. repair 
C. mend 
D. adjust

Question 12: If we didn't____any measures to protect whales, they would disappear forever.

A. use
B. make
C. take
D. do
Question 13: The 26th Annual Meeting of the Asia-Pacific Parliamentary Forum (APPF)
in Hanoi, our  beautiful and peaceful capital city, from January 18th to 21st, 2018.

A. was held
B. is held
C. is being held
D. will be held

Question 14: ____a very big breakfast, the kids refused to have anything for lunch. 

A. Having eaten
B. Have eaten
C. Being eaten
D. Eaten

Question 15: The more you practise your English, ____.

A. you will learn faster

B. the faster you will learn

C. faster you will learn

D. the faster will you learn

Mark the letter A, B, C, or D to indicate the sentence that best completes each of the following exchanges.

Question 16: Nam and Mai are having a party at Nam’s house.

- Nam: “Would you like to have some more dessert, Mai?” 
- Mai: “______. I’m full.”
A. That would be great 



B. Yes, I like your party 
C. Yes, please 




D. No, thanks
Question 17: Susan accidentally stepped on Denise’s foot. 

- Susan: “Oops! I’m sorry, Denise.” 

- Denise: “ ”  

A. You shouldn’t do that.  
B. It’s alright.  
C. You are welcome.   D. It’s nonsense 

Mark the letter A, B, C, or D to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.

Question 18: A. preference

B. occurrence

C. dependence

D. example
Question 19: A. enter


B. country

C. canal

D. cover
Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Question 20: A. invited

B. attended

C. celebrated

D. displayed
Question 21: A. silent

B. equip

C. picnic 

D. ticket 
Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions. 


Question 22: 75% of the world's population habitually consume caffeine, which up to a point masks the


symptoms of sleep deprivation.

A. offer
B. loss
C. supply
D. Damage
Question 23: I tried to confabulate with my new neighbor outside my apartment, but he doesn’t seem to welcome a stranger.
A. familiarize
B. chat
C. greet
D. assimilate

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 24: My cousin tends to look on the bright side in any circumstance.

A. be optimistic
B. be pessimistic

C. be confident
D. be smart
Question 25: No downward trend in mortality is apparent in any country before the middle of the eighteenth century.

A. death rate
B. birth rate

C. fertility

D. sexuality
Mark the letter A, B, C, or D to indicate the sentence that best combines each pair of sentences in the following questions.

Question 26: My daughter couldn’t speak a word. She could do that when she was three. 
A. Not until my daughter was three, she could speak a word. 

B. It was before my daughter was three that she could speak a word. 

C. Not until my daughter was three could she speak a word. 

D. My daughter couldn’t speak a word even after she was three.
Question 27: Nam was so rude to them last night. Now he feels regretful.
A. Nam regrets to have been so rude to them last night.
B. Nam regrets having so rude to them last night.
C. Nam wishes he hadn’t been so rude to them last night.
D. Nam wishes he weren’t so rude to them last night.
Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the following questions.

Question 28: What I told her a few days ago is not the solution to most of her problems.


A. What I told her
B. is

C. to 

D. most of
Question 29: Some manufacturers are not only raising their prices but also decreasing the production of its products.

A. raising 
B. but

C. decreasing
D. its

Question 30: It is essential to provide high school students with adequate career orientation, so they can make more informative decisions about their future major.


A. essential
B. orientation

C. informative
D. major
Mark the letter A, B, C, or D to indicate the sentence that is closest in meaning to each of the following questions.

Question 31: You are not allowed to take photos in the museum. 

A. You may take photos in the museum. 
B. You should take photos in the museum. 


C. You mustn't take photos in the museum. 
D. You needn't take photos in the museum. 
Question 32: Tom said, “I’ll give you this book back tomorrow, Mary.” 

A. Tom told Mary that I would give you that book back the next day.

B. Tom told Mary that he would give her that book back the next day.

C. Tom told Mary that he wouldn’t give her that book back the next day.



D. Tom said to Mary that she would give him that book back the next day.
Question 33: She last visited her home country ten years ago.

A. She hasn't visited her home country for ten years. 

B. She didn't visit her home country ten years ago.

C. She has visited her home country for ten years.

D. She was in her home country for ten years. 
Read the following passage and mark the letter A, B, C, or D to indicate the correct word or phrase that best fits each the numbered blanks.

Here are some hand gestures and what they mean in different countries and cultures; "Thumbs up" widely recognized sign of approval or agreement is actually used as an (34)____in Bangladesh. In certain parts of the Middle East, thumbs-up is definitely a highly offensive thumbs-down. The thumbs-up sign has been confusing people for thousands of years! This is used in the United States to ask a person to step forward, but in Asia this gesture isn’t welcome. It should only be used to beckon dogs (35) ____you do it in the Philippines you could be arrested.
In USA “the horn fingers" is adopted by rockers and it is a sign of approval, rock on! But in (36) ____ Mediterranean and Latin countries, such as Argentina, Brazil, Colombia, Cuba, Spain, Italy and Portugal, to make this sign at someone is to tell them (37) ____their spouse is cheating on them.
Looking at your watch means “I'm in a hurry” or “I've got to be somewhere." In the Middle East, however, a (38) ____should run its natural course, as it would be very rude to look at your watch mid-conversation.

(Source: https://blog.busuu.com/what-hand-gestures-mean-in-different-countries/)
Question 34: A. consult

B. result

C. insult

D. assault

Question 35: A. as


B. unless

C. when

D. if
Question 36: A. many

B. few


C. much

D. another

Question 37: A. that


B. which

C. who


D. whom

Question 38: A. speech

B. conversation
C. dialogue

D. chat
Read the following passage and mark the letter A, B, C, or D to indicate the answer to each of the question.

Japanese Girls' Day-also known as the Doll's Festival-is celebrated on March 3 to pray for the health and happiness of young girls in Japan. Hinamatsuri, the name of the celebration in Japan, is marked by families displaying a set of hina dolls in the house and serving special delicacies that are ceremonially beautiful and delicious.

Traditionally, parents or grandparents of a newborn girl buy a set of hina dolls for the baby, unless they have special dolls that are inherited from generation to generation. From the end of February to March 3, hina dolls dressed in Japanese ancient costumes are displayed on tiered platforms that are covered with a red carpet. The costumed dolls represent the imperial court of the Heian period (A.D. 794 to 1185] and feature the emperor, empress, attendants, and musicians dressed in traditional garb.

The dolls are displayed hierarchically with the emperor and empress at the top, which are set in front of a gilded screen representing the thrown. The number of dolls and their size vary from home to home, but five to seven platforms are common.

It is customary to put the dolls away as soon as the festival is over-there is a superstition that if the dolls are left out, a family will have trouble marrying off their daughters. After the festival, some people  release paper dolls into the rivers praying that this will send away sickness and bad fortune.

(Adapted from https:'/'/ivwiv. thespruceeats.com/)

Question 39: Which of the following could be the main idea of the passage?

A. Japanese Girls' Day.



B. Different types of dolls for baby

C. Procedure of Hinamatsuri.


D. The way to display the dolls.
Question 40: The word "delicacies" in paragraph 1 is closest in meaning to

A. rare flowers
B. expensive foods
C. traditional cakes
D. beverages

Question 41: According to the passage, the following are true about Japanese Girls' Day, EXCEPT _____
A. It is organized on March 3 to pray for health and happiness of Japanese girls.

B. Some sets of hina dolls are preserved to pass down the younger generation.

C. Before the festival, hina dolls in ancient costumes are covered with a red carpet.

D. The hina dolls are categorized according to their hierarchy in the imperial court.

Question 42: What will be done with the dolls after the festival?

A. being thrown away



B. being stored
C. being sold




D. being displayed in the girls' room

Question 43: What does the word “this” in the last paragraph refer to?

A. marrying off their daughters

B. leaving out the hina dolls

C. putting the dolls away as soon as possible

D. putting paper dolls into the rivers

Read the following passage and mark the letter A, B, C, or D to indicate the answer to each of the question.

Astronomers have for the first time definitively ID’d the birth of a specific heavy element during a neutron-star smashup. They found strontium. And it showed up in the wavelengths of light — or spectra — making up this collision’s afterglow.

Scientists had assumed that a collision by two super-dense objects, such as neutron stars, would trigger a chain of nuclear reactions. They’re known as the r-process. In such an environment, the nuclei of atoms could rapidly gobble up neutrons. Afterward, those nuclei would become transformed in a process known as radioactive decay. The r-process was seen as a way to transform old, smaller elements into newer, bigger ones. About half of all elements heavier than iron were thought to be made in the r-process. Finding strontium in the recent collision at last offered the most direct evidence yet that neutron-star collisions really do trigger the r-process.

Physicists had long predicted that silver, gold and many other elements more massive than iron formed this way. But scientists weren’t sure where those r-process reactions took place. After all, no one had directly seen the r-process underway in a celestial event. Or they didn’t until the merger of two neutron stars in 2017. Scientists quickly analyzed light given off by that cataclysm. In it, they found evidence of the birth of a hodgepodge of heavy elements. All would seem to have come from the r-process. 

The researchers were examining mostly very heavy elements — ones whose complex atomic structures can generate millions of spectral features. And all of those features were not yet fully known, Watson points out. This made it extremely difficult to tease apart which elements were present, he says.

Strontium, however, is relatively light compared to other r-process elements. And its simple atomic structure creates a few strong and well-known spectral clues. So Watson and his colleagues expanded their analysis to consider it. In doing so, they turned up the clear "fingerprint" of strontium. It emerged in light collected by the Very Large Telescope in Chile within a few days of the neutron-star collision. Seeing strontium in the afterglow wasn’t all that unexpected, says Brian Metzger. He’s an astrophysicist at Columbia University in New York City and not involved in the new work. Strontium, he notes, “does tell us something interesting” about the elements formed during the neutron-star collision.

(Source: https://www.sciencenewsforstudents.org/)
Question 44. Which best serves as the title for the passage?


A. Gravitational waves linked to neutron star collision.


B. A nearby neutron star crash could cause calamity on Earth.


C. Neutron-star collision shakes space and time. 


D. Heavy element identified from a neutron-star collision. 
Question 45. The word “it” in paragraph 1 refers to _____.


A. collision
B. afterglow
C. smashup 
D. strontium 
Question 46. According to paragraph 2, what is NOT mentioned about the r-process?


A. R-process happens before the radioactive decay process.


B. R-process reactions are similar to thermonuclear weapon explosions.


C. R-process is a set of nuclear reactions initiated by neuron-star collision.

 
D. It is responsible for the creation of approximately half of the atomic nuclei heavier than iron. 

Question 47. The word “hodgepodge” in paragraph 3 can be replaced by _______.


A. selection
B. jumble
C. assemblage 
D. medley 
Question 48. The word “tease” in paragraph 4 can be replaced by _______.


A. tell
B. tear
C. taunt 
D. move 

Question 49. According to paragraph 5, why did the researchers extend the reviewed scale of elements for strontium?


A. Strontium is similar to Barium and the lanthanides – which have strong spectroscopic feature.


B. It had been thought that only the most robust elements would be made in neutron-star collisions.


C. Strontium was only discovered after the observation of the crash, thus could not be considered. 


D. Strontium’s properties are quite different from the original considered set of elements. 
Câu 50. Which of the following can be inferred from the passage?


A. Spotted strontium supports the idea that neutron-star mergers create many elements heavier than iron.

B. Scientists have detected a new element for the periodic table in the aftermath of a neutron star crash.


C. A neutron-rich environment generates lighter r-process elements than a neutron-free one. 


D. A pair of black holes is more productive than that of neutron stars in creating gold. 

KEY CHI TIẾT
Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.

Question 1: The statement of the witness didn’t help the police in the investigation, so it proved to be____.


A. valuable

B. valueless
 
C. valuably
 
D. invaluable 

Question 1: 
Đáp án: B. valueless

Câu đã cho nghĩa là: Phát ngôn của nhân chứng không giúp gì cho cảnh sát trong quá trình điều tra, vì vậy nó được cho là không có giá trị.

Vị trí cần điền là một tính từ. Vì vậy loại đáp án “valuably” (trạng từ). 

Các phương án gợi ý là:

· Valuable: có giá trị

· Valueless: vô giá trị

· Valuably: một cách có giá trị

· Invaluable: vô giá (rất quý nên không thể định giá được)

+ Trong câu này đáp án là “valueless” – vô/không có giá trị vì nó hợp với ngữ nghĩa của câu. Các từ còn lại hoặc là nghĩa không phù hợp hoặc là sai từ loại. 

Question 2: I’m a bit late, ____?


A. am not I

B. aren’t you 

C. are you

D. aren’t I
Question 2: 
Đáp án: D

Mệnh đề chính sử dụng “I am” nên phần láy dùng dạng phủ định: aren’t I hoặc am I not.

Question 3: When confronted with a mass of____tape, many people feel a sense of powerlessness.

A. red


B. green

C. blue


D. brown

Question 3: 
Đáp án A: 

red tape: tệ quan liêu

Tạm dịch: Khi đương đầu với tệ quan liêu, nhiều người có cảm giác bất lực.

Question 4: When are you leaving____Singapore? This week or next week?

A. for


B. in


C. to


D. at

Question 4: Đáp án: A

leave for: rời khỏi đâu

Tạm dịch: Khi nào bạn sẽ rời Singapore? Tuần này hay là tuần sau?

Question 5: The ____ for this position starts at thirty thousand euros per year.

A. wage 


B. pension 

C. salary 

D. income

Question 5: Đáp án C

Kiến thức về từ vựng

A. wage /weɪdʒ/ (n): tiền công (là số tiền được trả hàng tuần hoặc theo từng ngày dựa vào số tiền làm theo giờ, ngày hoặc tuần hoặc thỏa thuận dựa trên dịch vụ nào đó)

B. pension /'pen∫n/ (n): tiền lương hưu

C. Salary /'sæləri/ (n): tiền lương (là số tiền lương cố định được trả hàng tháng hay hằng năm và không thay đổi dựa vào số giờ làm việc)

D. income /‘ɪnkʌm/ (n): thu nhập (là để chỉ tất cả các khoản tiền bạn kiếm được sau một khoảng thời gian như 1 năm bạn làm việc hoặc tiền kiếm được từ những khoản đầu tư (investment). Được gọi chung là thu nhập tài chính)

Question 6: ____the management has decided on the order of events for the training day, a memo will be sent to all staff. 


A. While


B. Once
 
C. Hardly
 
D. Because 

Question 6: Đáp án: B. Once

Câu đã cho nghĩa là: Một khi ban điều hành quyết định xong quy trình tập huấn, một lời thông báo nhắc nhở sẽ được gửi đến toàn thể nhân viên.

Trong câu này đáp án đúng là “once” – “một khi” vì nó biểu đạt đúng nghĩa của câu. Trong câu này không biểu đạt hàm ý so sánh giữa hai hành động xảy ra cùng lúc nên không dùng “While”, câu cũng không có mối quan hệ lệ thuộc nguyên nhân – kết quả nên không dùng “because”. Từ “hardly” sai vì nếu “hardly” đứng đầu câu, câu phải theo câu trúc đảo ngữ.

Question 7: At first sight I met her. I was impressed with her ____eyes.

A. big beautiful round black 


B. beautiful black big round 

C. beautiful big round black 


D. beautiful round big black 

Question 7: Đáp án: C

	opinion
	size
	age
	shape
	colour
	origin
	material
	Purpose

	beautiful
	big
	
	round
	black
	
	
	


Question 8: John and Miley ____ last month. They weren’t happy in this relationship.


A. broke up 
B. brought up 
C. got over 
D. broke off 
Question 8: Đáp án A:  broke up

Các câu gợi ý được đưa ra là: 

· Broke up 
tạm dịch: “chia tay” 
· Brought up 
tạm dịch: “nuôi dạy”
· Got over 
tạm dịch: “vượt qua” 
· Broke off 
tạm dịch: “tạm ngừng hoạt động” 
Vì vậy, “broke up” có ý nghĩa phù hợp nhất. 

Tạm dịch câu đã cho trong câu hỏi là: “John và Miley đã chia tay vào tháng trước. Họ đã không cảm thấy hạnh phúc trong mối quan hệ này.” 

Question 9: Tom burnt his hand when he _____ dinner.


A. was cooking
B. were cooking
C. has cooked
D. cooked

Question 9: Đáp án A

Căn cứ vào nghĩa của câu

(Tom bị bỏng tay trong khi anh ấy đang nấu bữa tối.)

ta thấy:

Hành động "nấu bữa tối" là hành động xảy ra trước và vẫn còn đang xảy ra thì hành động "bỏng tay" là hành động xảy ra sau và xen vào.

=> Đáp án A
Question 10: I won’t return these books to the library until I ____ my research project. 


A. finished
B. will finish
C. finish
D. am going to finish
Question 10: Đáp án: C.  finish
Mệnh đề “until I finish my research project” là mệnh đề trạng ngữ chỉ thời gian. Lưu ý không dùng các thì tương tai (Future tenses) trong các mệnh đề trạng ngữ chỉ thời gian. Khi mệnh đề chính dùng tương lai thì mệnh đề thời gian dùng thì hiện tại. 
Question 11: Lifelong learning can also help ____ some of the weaknesses of the education system.


A. amend 
B. repair 
C. mend 
D. adjust

Question 11: Đáp án A

Kiến thức về cụm từ cố định

Tạm dịch: Học tập suốt đời cũng có thể khắc phục một vài nhược điểm của hệ thống giáo dục.

A. amend one’s weakness: khắc phục nhược điểm của ai đó.

Xét các đáp án khác:

B. repair /rɪ'peə(r)/ (v): sửa chữa (đồ điện, xe cộ,…)

C. mend /mend/ (v): tu sửa, vá

D. adjust /ə'dʒʌst/ (v): chỉnh sửa (một chút ), điều chỉnh

Question 12: If we didn't____any measures to protect whales, they would disappear forever.


A. use
B. make
C. take
D. do

Question 12: Đáp án C

Cụm: take measures to V: thực hiện các biện pháp để làm gì

Tạm dịch: Nếu chúng ta không có biện pháp để bảo vệ cá voi thì chúng sẽ biến mất

mãi mãi.
Question 13: The 26th Annual Meeting of the Asia-Pacific Parliamentary Forum (APPF)
in Hanoi, our  beautiful and peaceful capital city, from January 18th to 21st, 2018.


A. was held
B. is held
C. is being held
D. will be held

Question 13: Đáp án A

Thì quá khứ đơn diễn tả sự việc đã xảy ra tại một thời điểm được xác định trong quá khứ.

Cấu trúc bị động của thì quá khứ đơn: S + was/were + VP2

Tạm dịch: Cuộc họp thường niên lân thứ 26 của Diễn đàn Nghị viện Châu Á Thái Bình Dương (APPF) đã được tổ chức tại Hà Nội, thành phố thủ đô xinh đẹp và yên bình của chúng tôi, từ ngày 18 đến 21 tháng 1 năm 2018.

Question 14: ____a very big breakfast, the kids refused to have anything for lunch. 


A. Having eaten
B. Have eaten
C. Being eaten
D. Eaten
Question 14: Đáp án: A. Having eaten

“Having eaten” là mệnh đề rút gọn sử dụng hoàn thành phân từ. Rút gọn mệnh đề khi đồng chủ ngữ, dùng hoàn thành phân từ để nói đến sự việc xảy ra và hoàn tất trước sự việc khác trong quá khứ. “Being eaten" và “eaten” là dạng bị động, không đúng vì “the kids" là chủ thể thực hiện hành động “eat" nên không dùng ở bị động. 

Question 15: The more you practise your English, ____.


A. you will learn faster

B. the faster you will learn

C. faster you will learn

D. the faster will you learn

Question 15: Đáp án B

Cấu trúc so sánh kép: (càng.. .càng...)

The + hình thức so sánh hơn của tính từ/trạng từ + S + tobe/V, the hình thức so sánh hơn của tính từ/trạng từ + S + tobe/ V

Mark the letter A, B, C, or D to indicate the sentence that best completes each of the following exchanges.

Question 16: Nam and Mai are having a party at Nam’s house.

- Nam: “Would you like to have some more dessert, Mai?” 

- Mai: “______. I’m full.”

A. That would be great 



B. Yes, I like your party 
C. Yes, please 




D. No, thanks
Question 16: D

Giải thích: Lời đáp cần đưa ra sự từ chối lời mời ăn thêm vì Mai đã no.

A. Điều đó thật tuyệt vời 


B. Vâng, tôi thích bữa tiệc của bạn

C. Có, xin vui lòng 



D. Không, cảm ơn
Dịch nghĩa: Nam và Mai đang dự tiệc tại nhà Nam.

- Nam: “Bạn có muốn ăn thêm món tráng miệng không, Mai?”

- Mai: “Không, cảm ơn. Mình no rồi.”

Question 17: Susan accidentally stepped on Denise’s foot. 

- Susan: “Oops! I’m sorry, Denise.” 

- Denise: “ ”  

A. You shouldn’t do that.  
B. It’s alright.  
C. You are welcome.   D. It’s nonsense 

Question 17: B

Đáp án B Dịch:  - Susan: “Ối, xin lỗi Denise nhé.” -Denise: “Không sao đâu mà!” 

Mark the letter A, B, C, or D to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.

Question 18: A. preference

B. occurrence

C. dependence

D. example

Question 18: Đáp án: A. preference

Trọng âm của preference rơi vào âm thứ 1, các từ còn lại trọng âm vào âm thứ 2.

· preference /ˈprefərəns/; 

· occurrence /əˈkʌrəns/; 

· dependence /dɪpendəns/;
 

· example /ɪɡˈzɑːmpəl/ 

Question 19: A. enter


B. country

C. canal

D. cover
Question 19: Đáp án C

Canal (n) trọng âm rơi vào âm 2

A. enter: Động từ 2 âm tiết có đuôi –er => trọng âm vào âm 1

B. country: Danh từ 2 âm tiết => trọng âm vào âm 1

D. cover: Động từ 2 âm tiết có đuôi –er => trọng âm vào âm 1

Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Question 20: A. invited

B. attended

C. celebrated

D. displayed
	 A. invited
	B. attended
	C. celebrated
	D. displayed

	/ ɪnˈvaɪtɪd /

 Đáp án: D
	/ əˈtendɪd /
	/ ˈselɪbreɪtɪd /
	/ dɪˈspleɪd /


Question 21: A. silent

B. equip

C. picnic 

D. ticket 
Question 21: A. silent

B. equip

C. picnic 

D. ticket 
Đáp án A: slient 

Phần gạch chân trong từ “slient” được phát âm là /aɪ/:  silent /ˈsaɪlənt/, trong khi đó phần gạch dưới các từ khác được phát âm là /ɪ/: 

equip /ɪˈkwɪp/


picnic /ˈpɪknɪk/


ticket /ˈtɪkɪt/
Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions. 

Question 22: 75% of the world's population habitually consume caffeine, which up to a point masks the

symptoms of sleep deprivation.

A. offer
B. loss
C. supply
D. Damage

Question 22: Đáp án B

Tạm dịch: 75% dân số thế giới thường xuyên tiêu thụ caffeine, điều này dẫn đến các triệu chứng thiếu ngủ.

→ deprivation /depriveifon/ (n): sự thiếu

Xét các đáp án:

A. offer /ˈɒfə(r)/ (n): lời đề nghị

B. loss /lɒs/ (n): sự mất

C. supply/sə'plaɪ/ (n): sự cung cấp

damage/'dæmɪdʒ/ (n): sự hư hại
Question 23: I tried to confabulate with my new neighbor outside my apartment, but he doesn’t seem to welcome a stranger.

A. familiarize
B. chat
C. greet
D. assimilate

Question 23: Đáp án B

Tạm dịch: Tôi đã cố gắng nói chuyện với người hàng xóm mới bên ngoài căn hộ của mình, nhưng anh ta dường như không chào đón một người lạ.

→ confabulate /kənˌfæbjəˈleɪt/ (v): nói chuyện, nói chuyện phiếm

Xét các đáp án:

A. familiarize /fəˈmɪliəraɪz/ (v): học, làm cái gì cho quen

B. chat /tʃæt/ (v): nói chuyện phiếm, tán gẫu

C. greet /gri:t/ (v): chào đón

D. assimilate /əˈsɪməleɪt/ (v): tiêu hóa, đồng hóa

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 24: My cousin tends to look on the bright side in any circumstance.


A. be optimistic
B. be pessimistic

C. be confident
D. be smart

Question 25: Đáp án B

Tạm dịch: Không có xu hướng giảm nào trong tỷ lệ tử vong là rõ ràng ở bất kỳ quốc gia nào từ giữa thế kỷ 18 trở về trước.

→ mortality /mɔːˈtæləti/ (n): tỷ lệ tử vong

Xét các đáp án:

A. death rate: tỷ lệ tử

B. birth rate: tỷ lệ sinh

C. fertility /fə'tɪləti/ (n): khả năng sinh sản, tình trạng màu mỡ

sexuality /seksju'æləti/ (n): bản năng giới tính
Question 25: No downward trend in mortality is apparent in any country before the middle of the eighteenth century.

A. death rate
B. birth rate

C. fertility

D. sexuality
Question 25: Đáp án B

Tạm dịch: Không có xu hướng giảm nào trong tỷ lệ tử vong là rõ ràng ở bất kỳ quốc gia nào từ giữa thế kỷ 18 trở về trước.

→ mortality /mɔːˈtæləti/ (n): tỷ lệ tử vong

Xét các đáp án:

A. death rate: tỷ lệ tử

B. birth rate: tỷ lệ sinh

C. fertility /fə'tɪləti/ (n): khả năng sinh sản, tình trạng màu mỡ

sexuality /seksju'æləti/ (n): bản năng giới tính
Mark the letter A, B, C, or D to indicate the sentence that best combines each pair of sentences in the following questions.

Question 26: My daughter couldn’t speak a word. She could do that when she was three. 
A. Not until my daughter was three, she could speak a word. 

B. It was before my daughter was three that she could speak a word. 

C. Not until my daughter was three could she speak a word. 

D. My daughter couldn’t speak a word even after she was three.

Question 26: Đáp án C

Giải thích: My daughter couldn’t speak a word. She could do that when she was three. (Con gái tôi không thể nói một lời. Nó có thể nói khi nó ba tuổi.)
Chỉ phương án C phù hợp về nghĩa và đúng về ngữ pháp.

Dịch nghĩa: Mãi đến khi con gái tôi lên ba, nó mới có thể nói một lời.

Not until + S+V(qk) +St  +TDT +S +V +St.
Question 27: Nam was so rude to them last night. Now he feels regretful.

A. Nam regrets to have been so rude to them last night.

B. Nam regrets having so rude to them last night.

C. Nam wishes he hadn’t been so rude to them last night.
D. Nam wishes he weren’t so rude to them last night.
 Question 27: Đáp án C

Dịch đề bài: Tối qua Nam đã thật thô lỗ với họ. Giờ đây anh ấy cảm thấy thật hối tiếc, (ngụ ý: hối tiếc vì đêm qua đã quá thô lỗ).

A. Không dịch vì sai cấu trúc: “regret + to V” - tiếc vì sắp phải làm gì, nghĩa là hành động “to V” chưa diễn ra, không thể để “to have P2” - mang nghĩa hoàn thành vào đây được.

B. Không dịch vì sai cấu trúc: “rude” là tính từ, không đi với động từ “have”. Cần sửa “having” thành “having been”.

C. Nam ước rằng tối qua mình đã không thô lỗ với họ như vây. → đúng.

D. Không dịch vì sai cấu trúc: Ước cho một chuyện ở quá khứ (vì có trạng ngữ chỉ thời gian là “last night”) thì phải dùng thức giả định loại 3 (động từ chia ở quá khứ hoàn thành/ hoàn thành tiếp diễn). Vậy nên “were” (quá khứ đơn) phải chia thành “had been” (quá khứ hoàn thành). Chọn đáp án C vì nó là đáp án đúng duy nhất. 

Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the following questions.

Question 28: What I told her a few days ago is not the solution to most of her problems.


A. What I told her
B. is

C. to 

D. most of
Question 28: Đáp án B

Kiến thức ngữ pháp: ago ( was 

Chủ ngữ là mệnh đề danh từ động từ chia số it : were – was 

Question 29: Some manufacturers are not only raising their prices but also decreasing the production of its products.

A. raising 
B. but

C. decreasing
D. its

Question 29: Đáp án D

Kiểm tra kiến thức: Sự hoà hợp giữa chủ ngữ và tính từ sở hữu cách
Some manufacturers số nhiều ( their

Dịch: Một số nhà sản xuất không những tăng giá thành mà còn giảm năng suất của các sản phẩm.

Question 30: It is essential to provide high school students with adequate career orientation, so they can make more informative decisions about their future major.


A. essential
B. orientation

C. informative
D. major
Question 30: Đáp án C

Kiến thức: Từ vựng nâng cao 

Giải thích: 

informative (adj): cung cấp nhiều thông tin, có tác dụng nâng cao kiến thức 
informed (adj): có nhiều kiến thức hoặc thông tin về cái gì 

Sửa: “informative” => informed” 

Tạm dịch: Điều cần thiết là cung cấp cho học sinh trung học định hướng nghề nghiệp đầy đủ, vì vậy họ có thể đưa ra quyết định sáng suốt hơn về chuyên ngành tương lai của họ. 
Mark the letter A, B, C, or D to indicate the sentence that is closest in meaning to each of the following questions.

Question 31: You are not allowed to take photos in the museum. 

A. You may take photos in the museum. 
B. You should take photos in the museum. 


C. You mustn't take photos in the museum. 
D. You needn't take photos in the museum. 

Question 31: Đáp án C

Kiến thức: Động từ khuyết thiếu

Giải chi tiết: 
be not allowed to do sth: không được phép làm gì

= mustn’t do sth

may + V_nguyên thể: có lẽ là làm gì

should + V_nguyên thể: nên làm gì

needn’t + V_nguyên thể: không cần thiết làm gì

Tạm dịch: Bạn không được phép chụp ảnh trong bảo tàng.

A. Bạn có thể chụp ảnh trong bảo tàng. => sai nghĩa

B. Bạn nên chụp ảnh trong bảo tàng. => sai nghĩa

C. Bạn không được chụp ảnh trong bảo tàng.

D. Bạn không cần chụp ảnh trong bảo tàng. => sai nghĩa

Question 32: Tom said, “I’ll give you this book back tomorrow, Mary.” 


A. Tom told Mary that I would give you that book back the next day.


B. Tom told Mary that he would give her that book back the next day.

C. Tom told Mary that he wouldn’t give her that book back the next day.



D. Tom said to Mary that she would give him that book back the next day.
Question 32: B.


Tom told Mary that he would give her that book back the next day.

Trong câu này. khi đổi từ câu trực tiếp sang câu gián tiếp, I phải chuyển thành he, you chuyển thành her, tomorrow thành the next day và will phải chuyển thành would.

Question 33: She last visited her home country ten years ago.

A. She hasn't visited her home country for ten years. 

B. She didn't visit her home country ten years ago.

C. She has visited her home country for ten years.

D. She was in her home country for ten years. 
Question 33: A 
Kiến thức: Thì hiện tại hoàn thành 

Giải thích: 

Cách dùng: diễn tả hành động đã xảy ra trong quá khứ và còn tiếp diễn đến hiện tại 

Cấu trúc: S + last + V_quá khứ đơn + O + khoảng thời gian + ago. 

= S + has/have + not + VP2 for + khoảng thời gian. 

Tạm dịch: Cô ấy đã về thăm nước nhà của mình lần cuối vào 10 năm trước. 

A. Cô ấy đã không về thăm nước nhà của mình được 10 năm rồi. 

B. Cô ấy đã không về thăm nước nhà của mình 10 năm trước. => Sai trạng từ chỉ thời gian 

C. Cô ấy đã về thăm nước nhà của mình được 10 năm. => Sai về nghĩa 

D. Cô ấy đã ở nước nhà của mình 10 năm. => Sai nghĩa + thì của động từ 

Read the following passage and mark the letter A, B, C, or D to indicate the correct word or phrase that best fits each the numbered blanks.

Here are some hand gestures and what they mean in different countries and cultures; "Thumbs up" widely recognized sign of approval or agreement is actually used as an (34)____in Bangladesh. In certain parts of the Middle East, thumbs-up is definitely a highly offensive thumbs-down. The thumbs-up sign has been confusing people for thousands of years! This is used in the United States to ask a person to step forward, but in Asia this gesture isn’t welcome. It should only be used to beckon dogs (35) ____you do it in the Philippines you could be arrested.

In USA “the horn fingers" is adopted by rockers and it is a sign of approval, rock on! But in (36) ____ Mediterranean and Latin countries, such as Argentina, Brazil, Colombia, Cuba, Spain, Italy and Portugal, to make this sign at someone is to tell them (37) ____their spouse is cheating on them.

Looking at your watch means “I'm in a hurry” or “I've got to be somewhere." In the Middle East, however, a (38) ____should run its natural course, as it would be very rude to look at your watch mid-conversation.

(Source: https://blog.busuu.com/what-hand-gestures-mean-in-different-countries/)
Question 34: A. consult

B. result

C. insult

D. assault

Question 34: C

A. consult /kənˈsʌlt/ (n): việc hỏi ý kiến, tra cứu

B. result /rɪˈzʌlt/ (n): kết quả

C. insult /ɪnˈsʌlt/ (n): sự lăng mạ, sỉ nhục

D. assault /əˈsɔːlt/ (v): cuộc hành hung

Căn cứ vào nghĩa của câu:

“Thumbs up" widely recognized sign of approval or agreement is actually used as an (34) 
inBangladesh. (Giơ ngón cái lên được công nhận rộng rãi như một dấu hiệu của sự đòng tình, nhưng thực tế nó lại là cử chỉ lăng mạ ở Bangladesh.)

Question 35: A. as


B. unless

C. when

D. if

Question 35: D

Căn cứ vào nghĩa của câu ta thấy đây là mệnh đề nếu ... thì...

It should only be used to beckon dogs ... (35) 
youdo it

in the Philippines you could be arrested. (Nó chỉ nên được sử dụng để vẫy gọi

chó... nếu bạn làm điều đó ở Philippines, bạn có thể bị bắt.)

Question 36: A. many

B. few


C. much

D. another

Question 36: A

Many + N số nhiều

Few + N số nhiều

Much + N không đếm được => loại

Another + N số ít chưa xác định  => loại

Dựa vào nghĩa của câu ta chọn Many

Question 37: A. that


B. which

C. who


D. whom

Question 37: A

Ta có cấu trúc:

Tell sb that s + V: nói với ai rằng

But in ____Mediterranean and Latin countries, such as Argentina, Brazil, Colombia, Cuba, Spain, Italy and Portugal, to make this sign at someone is to tell them (37) 
their spouse is cheating on them.

(Nhưng  ở  nhiều  nước  Địa  Trung  Hải  và  Latinh,  như  Argentina,  Brazil,

Colombia, Cuba, Tây Ban Nha, Ý và Bồ Đào Nha, thực hiện dấu hiệu này với một người nào đó là để nói với họ rằng vợ hoặc chồng của họ đang lừa dối họ.)

Question 38: A. speech

B. conversation
C. dialogue

D. chat
Question 38: B

A. speech /spiːtʃ/ (n): bài diễn thuyết

B. conversation /ˌkɒnvəˈseɪʃn/ (n): cuộc trò chuyện

C. diaiogue /ˈdaɪəlɒɡ/ (n): đoạn đối thoại

D. chat /tʃæt/ (n): cuộc trò chuyện

Căn cứ vào nghĩa của câu:

Looking atyour watch means "I’m in a huriy" or "I’ve got to be somewhere." In the Middle East, however, a (38 
should run its natural course, as it would be very rude to look at your watch midconversation. (Nhìn vào đồng hồ có nghĩa là "Tôi đang vội" hoặc "Tôi phải đi đâu đó". Tuy nhiên, ở vùng Trung Đông, một cuộc trò chuyện nên diễn ra tự nhiên, vì nó sẽ rất thô lỗ khi nhìn vào đồng hồ giữa cuộc trò chuyện.)

Read the following passage and mark the letter A, B, C, or D to indicate the answer to each of the question.

Japanese Girls' Day-also known as the Doll's Festival-is celebrated on March 3 to pray for the health and happiness of young girls in Japan. Hinamatsuri, the name of the celebration in Japan, is marked by families displaying a set of hina dolls in the house and serving special delicacies that are ceremonially beautiful and delicious.

Traditionally, parents or grandparents of a newborn girl buy a set of hina dolls for the baby, unless they have special dolls that are inherited from generation to generation. From the end of February to March 3, hina dolls dressed in Japanese ancient costumes are displayed on tiered platforms that are covered with a red carpet. The costumed dolls represent the imperial court of the Heian period (A.D. 794 to 1185] and feature the emperor, empress, attendants, and musicians dressed in traditional garb.

The dolls are displayed hierarchically with the emperor and empress at the top, which are set in front of a gilded screen representing the thrown. The number of dolls and their size vary from home to home, but five to seven platforms are common.

It is customary to put the dolls away as soon as the festival is over-there is a superstition that if the dolls are left out, a family will have trouble marrying off their daughters. After the festival, some people  release paper dolls into the rivers praying that this will send away sickness and bad fortune.

(Adapted from https:'/'/ivwiv. thespruceeats.com/)

Question 39: Which of the following could be the main idea of the passage?

A. Japanese Girls' Day.



B. Different types of dolls for baby

C. Procedure of Hinamatsuri.


D. The way to display the dolls.
Question 39: A

A. Japanese Girls' Day.



B. Different types of dolls for baby

C. Procedure of Hinamatsuri.


D. The way to display the dolls.

Đoạn 1 đề cập đến ý nghĩa , thời gian tổ chức ngày lễ dành cho bé gái

Đoạn 2 đề cập đến nguồn gốc, trang phục, 

Đoạn 3 đề cập đến cách hiển thị, số lượng và kích thước con búp bê

Đoạn 4 đề cập đến điều tín ngưỡng liên quan đến con búp bê

Như vậy ý khái quát nhất là ý A: ngày lễ dành cho bé gái ở Nhật Bản

Question 40: The word "delicacies" in paragraph 1 is closest in meaning to

A. rare flowers
B. expensive foods
C. traditional cakes
D. beverages

Question 40: B

Từ “delicacies" trong đoạn 1 có nghĩa gần nhất với từ  

A. các loài hoa hiếm có
B. những món ăn đắt tiền

C. các loại bánh truyền thống
D. nước giải khát Từ đồng nghĩa: delicacy (món ngon) = special food Căn cứ vào thông tin đoạn 1:

Hinamatsuri, the name of the celebration in Japan, is marked by families displaying a set of hina dolls in the house and serving special delicacies that are ceremonially beautiful and delicious. (Hinamatsurl, tên của lễ kỷ niệm tại Nhật Bản, được đánh dấu bởi việc các gia đình trưng bày một bộ búp bê hina trong

nhà và phục vụ các món ăn đắt tiền đặc biệt đẹp mắt và ngon miệng.)

Question 41: According to the passage, the following are true about Japanese Girls' Day, EXCEPT _____

A. It is organized on March 3 to pray for health and happiness of Japanese girls.

B. Some sets of hina dolls are preserved to pass down the younger generation.

C. Before the festival, hina dolls in ancient costumes are covered with a red carpet.

D. The hina dolls are categorized according to their hierarchy in the imperial court.

Question 41:  C

Theo đoạn văn, những câu sau đây là đúng về Ngày lễ dành cho các bé gái ở Nhật Bản, ngoại trừ 

A. Lễ hội được tổ chức vào ngày 3 tháng 3 để cầu sức khỏe và hạnh phúc cho

những đứa bé gái Nhật Bản.

B. Một vài loại búp bê Hina được cất giữ để truyền lại cho các thế hệ sau.

C. Trước lễ hội, búp bê Hina mặc trang phục truyền thống sẽ được che phủ bằng một tấm thảm đỏ.

D. Búp bê Hina được phân loại theo thứ bậc của chúng trong triều đình.

Căn cứ vào thông tin các đoạn:

Japanese Girls' Day-also known as the Doll's Festival-is celebrated on March 3 to pray for the health and happiness of young girls in Japan. (Ngày lễ dành cho các bé gái ở Nhật Bản hay còn gọi là Lễ hội búp bê, được tổ chức vào ngày 3 tháng 3 để cầu nguyện sức khỏe và hạnh phúc cho các bé gái ở Nhật Bản.) Traditionally parents or grandparents of a newborn girl buy a set of hina dolls for the baby unless they have special dolls that are inherited from generation to generation. (Theo truyền thống, cha mẹ hoặc ông bà của một bé gái sơ sinh phải mua một bộ búp bê hina cho bé, trừ khi chúng có những con búp bê đặc biệt được truyền lại từ thế hệ này sang thế hệ khác)

The costumed dolls represent the imperial court of the Heian period (A.D. 794

to 1185) and feature the emperor, empress, attendants, and musicians dressed in traditional garb. (Những con búp bê đại diện cho triều đình của thời Heian (A.D. 794 đến 1185) và có hoàng đế, hoàng hậu, người hầu và nhạc sĩ trong

những bộ trang phục truyền thống.)
Question 42: What will be done with the dolls after the festival?

A. being thrown away



B. being stored
C. being sold




D. being displayed in the girls' room

Question 42: B

Sau lễ hội, những con búp bê sẽ được làm gì?

A. Bị vứt đi

B. Được cất giữ

C. Bị bán đi

D. Được trưng bày trong phòng của những bé gái

Căn cứ vào thông tin đoạn cuối:

It is customary to put the dolls away as soon as the festival is over (Nó là phong

tục để cất giữ những con búp bê đi ngay khi lễ hội kết thúc.)

Question 43: What does the word “this” in the last paragraph refer to?

A. marrying off their daughters

B. leaving out the hina dolls

C. putting the dolls away as soon as possible

D. putting paper dolls into the rivers

question 43:  D

Từ "this" trong đoạn cuối chỉ điều gì sau đây?

A. Việc kết hôn của những cô con gái

B. Việc bỏ những con búp bê Hina

C. Việc cất giữ những con búp bê càng sớm càng tốt

D. Việc thả những con búp bê giấy xuống sông

Từ "this" thay thế cho việc thả búp bê giấy xuống sông ở trước đó. Căn cứ vào thông tin đoạn cuối:

After the festival, some people release paper dolls into the rivers praying that this will send away sickness and bad fortune. (Sau lễ hội, một số người sẽ thả búp bê giấy xuống sông và cầu nguyện rằng điều này sẽ mang bệnh tật và

những điềm xấu đi xa

Read the following passage and mark the letter A, B, C, or D to indicate the answer to each of the question.

Astronomers have for the first time definitively ID’d the birth of a specific heavy element during a neutron-star smashup. They found strontium. And it showed up in the wavelengths of light — or spectra — making up this collision’s afterglow.

Scientists had assumed that a collision by two super-dense objects, such as neutron stars, would trigger a chain of nuclear reactions. They’re known as the r-process. In such an environment, the nuclei of atoms could rapidly gobble up neutrons. Afterward, those nuclei would become transformed in a process known as radioactive decay. The r-process was seen as a way to transform old, smaller elements into newer, bigger ones. About half of all elements heavier than iron were thought to be made in the r-process. Finding strontium in the recent collision at last offered the most direct evidence yet that neutron-star collisions really do trigger the r-process.

Physicists had long predicted that silver, gold and many other elements more massive than iron formed this way. But scientists weren’t sure where those r-process reactions took place. After all, no one had directly seen the r-process underway in a celestial event. Or they didn’t until the merger of two neutron stars in 2017. Scientists quickly analyzed light given off by that cataclysm. In it, they found evidence of the birth of a hodgepodge of heavy elements. All would seem to have come from the r-process. 

The researchers were examining mostly very heavy elements — ones whose complex atomic structures can generate millions of spectral features. And all of those features were not yet fully known, Watson points out. This made it extremely difficult to tease apart which elements were present, he says.

Strontium, however, is relatively light compared to other r-process elements. And its simple atomic structure creates a few strong and well-known spectral clues. So Watson and his colleagues expanded their analysis to consider it. In doing so, they turned up the clear "fingerprint" of strontium. It emerged in light collected by the Very Large Telescope in Chile within a few days of the neutron-star collision. Seeing strontium in the afterglow wasn’t all that unexpected, says Brian Metzger. He’s an astrophysicist at Columbia University in New York City and not involved in the new work. Strontium, he notes, “does tell us something interesting” about the elements formed during the neutron-star collision.

(Source: https://www.sciencenewsforstudents.org/)
Question 44. Which best serves as the title for the passage?


A. Gravitational waves linked to neutron star collision.


B. A nearby neutron star crash could cause calamity on Earth.


C. Neutron-star collision shakes space and time. 


D. Heavy element identified from a neutron-star collision. 
Câu 44: Đáp án D
Câu nào sau đây thích hợp nhất làm tiêu đề cho đoạn văn?
A. Sóng hấp dẫn liên kết với va chạm sao neutron

B. Một vụ va chạm sao neutron gần đó có thể gây ra thiên tai trên Trái đất

C. Va chạm sao neutron làm rung chuyển không gian và thời gian

D. Nguyên tố nặng được xác định từ vụ va chạm sao neutron

Căn cứ vào thông tin đoạn đầu:
Astronomers have for the first time definitively ID'd the birth of a specific heavy element during a neutron-star smashup. They found strontium. And it showed up in the wavelengths of light — or spectra — making up this collision's afterglow. (Các nhà thiên văn học lần đầu tiên xác định rõ ràng sự ra đời của một nguyên tố nặng cụ thể trong một vụ va chạm sao neutron. Họ tìm thấy stronti. Và nó xuất hiện trong các bước sóng ánh sáng - hoặc quang phổ - tạo nên hậu quả của vụ va chạm này.)
Như vậy, đoạn văn đang nói về một nguyên tố nặng mới được xác định từ vụ va chạm sao neutron là stronti. 

Question 45. The word “it” in paragraph 1 refers to _____.


A. collision
B. afterglow
C. smashup 
D. strontium 
Câu 45: Đáp án D
Từ "it" trong đoạn 1 đề cập đến .
A. sự va chạm

B. hào quang

C. đập phá

D. Stronti

Từ “it” ở đây dùng để thay thế cho danh từ nguyên tố “stonti” được nhắc tới trước đó.

They found strontium. And it showed up in the wavelengths of light — or spectra — making up this collision's afterglow. (Họ tìm thấy stronti. Và nó xuất hiện trong các bước sóng ánh sáng - hoặc quang phổ - tạo nên hậu quả của vụ va chạm này.) 
Question 46. According to paragraph 2, what is NOT mentioned about the r-process?


A. R-process happens before the radioactive decay process.


B. R-process reactions are similar to thermonuclear weapon explosions.


C. R-process is a set of nuclear reactions initiated by neuron-star collision.

 
D. It is responsible for the creation of approximately half of the atomic nuclei heavier than iron. 

Câu 46: Đáp án B
Theo đoạn 2, những gì không được đề cập về quá trình R?
A. Quá trình R xảy ra trước quá trình phân rã phóng xạ

B. Phản ứng quá trình R tương tự như vụ nổ vũ khí nhiệt hạch

C. Quá trình R là một tập hợp các phản ứng hạt nhân được bắt đầu bởi sự va chạm giữa các ngôi sao neutron

D. Nó chịu trách nhiệm tạo ra khoảng một nửa số hạt nhân nguyên tử nặng hơn sắt

Căn cứ vào thông tin đoạn đầu:

They're known as the r-process … Afterward, those nuclei would become transformed in a process known as radioactive decay. ... About half of all elements heavier than iron were thought to be made in the r-process. Finding strontium in the recent collision at last offered the most direct evidence yet that neutron-star collisions really do trigger the r-process. (Chúng được gọi là quá trình R. ... Sau đó, những hạt nhân đó sẽ bị biến đổi trong một quá trình được gọi là phân rã phóng xạ. .... Khoảng một nửa trong số các nguyên tố nặng hơn sắt được cho là sẽ được tạo ra trong quá trình R. Việc tìm ra stronti trong vụ va chạm gần đây cuối cùng đã đưa ra hầu hết các bằng chứng trực tiếp cho thấy các vụ va chạm sao neutron thực sự kích hoạt quá trình R.) 
Question 47. The word “hodgepodge” in paragraph 3 can be replaced by _______.


A. selection
B. jumble
C. assemblage 
D. medley 
Câu 47: Đáp án D
Từ "hodgepodge" trong đoạn 3 có thể được thay thế bằng .
A. sự lựa chọn

B. lộn xộn

C. tập hợp

D. hỗn hợp

Từ đồng nghĩa hodgepodge (mớ hỗn độn) = medley

In it, they found evidence of the birth of a hodgepodge of heavy elements. (Trong đó, họ tìm thấy bằng chứng về sự ra đời của một mớ hỗn độn của các yếu tố nặng.) 
Question 48. The word “tease” in paragraph 4 can be replaced by _______.


A. tell
B. tear
C. taunt 
D. move 

Câu 48: Đáp án A
Từ “tease” trong đoạn 4 có thể được thay thế bằng... .
A. kể

B. khóc

C. chế nhạo

D. di chuyển

Từ đồng nghĩa tease (phân biệt) = tell

This made it extremely difficult to tease apart which elements were present, he says. (Điều này làm cho nó cực kỳ khó khăn để phân biệt những yếu tố nào là hiện tại, ông nói.) 
Question 49. According to paragraph 5, why did the researchers extend the reviewed scale of elements for strontium?


A. Strontium is similar to Barium and the lanthanides – which have strong spectroscopic feature.


B. It had been thought that only the most robust elements would be made in neutron-star collisions.


C. Strontium was only discovered after the observation of the crash, thus could not be considered. 


D. Strontium’s properties are quite different from the original considered set of elements. 
Câu 49: Đáp án D
Theo đoạn 5, tại sao các nhà nghiên cứu mở rộng thang đo yếu tố cho stronti?
A. Stronti tương tự như bari và lantan - có tính năng quang phổ mạnh

B. Người ta đã nghĩ rằng chỉ những nguyên tố mạnh nhất mới được tạo ra trong các vụ va chạm sao neutron

C. Strontium chỉ được phát hiện sau khi quan sát vụ tai nạn, do đó không thể xem xét

D. Thuộc tính của Strontium khá khác biệt so với tập hợp các yếu tố được xem xét ban đầu

Căn cứ vào thông tin đoạn năm:
Strontium, however, is relatively light compared to other r-process elements. And its simple atomic structure creates a few strong and well-known spectral clues. So Watson and his colleagues expanded their analysis to consider it. (Tuy nhiên, stronti tương đối nhẹ so với các yếu tố khác trong quá trình R. Và cấu trúc nguyên tử đơn giản của nó tạo ra một vài manh mối quang phổ mạnh mẽ và nổi tiếng. Vì vậy, Watson và các đồng nghiệp của mình mở rộng phân tích của họ để xem xét riêng nó.) 
Câu 50. Which of the following can be inferred from the passage?


A. Spotted strontium supports the idea that neutron-star mergers create many elements heavier than iron.

B. Scientists have detected a new element for the periodic table in the aftermath of a neutron star crash.


C. A neutron-rich environment generates lighter r-process elements than a neutron-free one. 


D. A pair of black holes is more productive than that of neutron stars in creating gold. 

Câu 50: Đáp án A
Điều nào sau đây có thể được suy ra từ đoạn văn?
A. Stronti được phát hiện ủng hộ ý tưởng rằng sự hợp nhất sao neutron tạo ra nhiều yếu tố nặng hơn hơn sắt

B. Các nhà khoa học đã phát hiện ra một nguyên tố mới cho bảng tuần hoàn sau hậu quả của một va chạm của ngôi sao neutron

C. Một môi trường giàu neutron tạo ra các nguyên tố quá trình R nhẹ hơn so với môi trường không có neutron

D. Một cặp lỗ đen có năng suất cao hơn so với các sao neutron trong việc tạo ra vàng

Căn cứ vào thông tin đoạn hai:
Scientists had assumed that a collision by two super-dense objects, such as neutron stars, would trigger a chain of nuclear reactions. They're known as the r-process. … About half of all elements heavier than iron were thought to be made in the r-process. (Các nhà khoa học đã cho rằng một vụ va chạm giữa hai vật thể siêu dày đặc, như sao neutron, sẽ kích hoạt một chuỗi các phản ứng hạt nhân. Chúng được gọi là quá trình R… Khoảng một nửa trong số các nguyên tố nặng hơn sắt được cho là sẽ được tạo ra trong quá trình R.) 
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